
 
 

Examen de Economía Española ( GE) 
 

 
1) ¿Qué  dos  razones  han  justificado  el  incremento  del  peso  del  gasto  público  en  el 

producto desde 1975 hasta la actualidad? 
 
 

 
 
 

 
2) Qué objetivo persigue el desacoplamiento por parte de la PAC de las ayudas recibidas 

por los agricultores respecto de la producción? ¿y respecto de la superficie o cabezas 

de ganado?. 
 
 

 
 
 

 
 

3) Enumere las causas de la debilidad competitiva de las manufacturas españolas. 

 
 
 

 
 
 

 
 
 

4) Qué implicaciones tiene para la balanza comercial el hecho de que la elasticidad precio 
de las importaciones sea en valor absoluto inferior a la de las exportaciones. 
 

 
 
 

 
 



 
5) Explique a través de un esquema de oferta y demanda  lo acontecido en  la economía 

española  desde  2008  hasta  la  actualidad.  Identifique,  al  menos,  tres  factores  que 
modifiquen la posición de las curvas de oferta y demanda. 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 

 
6) Aproxime la tasa de crecimiento del PIB per cápita con los datos del cuadro. Explique lo 

acontecido a lo largo del periodo 

 
 

 


